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a) Calculate the numerical value of phasor current, Iy, flowing into the primary side

of the transformer. Note: the transformer is linear.
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b) The turns ratio of the transformer is N1/N, = 6. Calculate the numerical value of
phasor current, I, flowing down through the capacitor. Note: the transformer is
ideal.
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b) We use +the ideal Aransformer egns:
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Applying these hs te Ehe circuit
dff rq-ﬂgr ﬂrtqiﬁgﬁﬁqf we can Solve
the” dircuit by considering a carrert
simmation,
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A current summation at 4he node
with <the dashed circuit, and +the
observation that T =Ly yields
+the faff.;mé-n_t; E-ﬁ#ﬂ{'-ﬁﬂﬂﬁ:
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Thus, TL = 0-&)I, = ~STg=-30A
er T =304 18"A



